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Spherical two-distance s e t = {v,.vn..... On E Rd:

H i h i 1=1 & f i ± j < v i . Vj> t a ke s only 2 values).

Question Find m a x s i z e of spherical 2-distance s e t i n Rd..
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D E I LJ-Polyanskii 19] Spectral radius order
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ConnectionbetweenNanaldlandt
K I N : = smallest k s t . I k-vertex G whose X ,(G) = A .

Equiangular lines i n Rd N-vertex graph G .

✓ = {Vi.'... VN)
V = {v, . . . . . UN} E Rd.
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Generalize kcal for general 4 and p .

Spherical 2 - distance s e t N-vertex graph G
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Goal: Given i . µ , d find largest N-vertex G s r . A I - A e + MJ k o
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